Non-Verbal Intelligence Test

Name: Date:

Completing a Sequence

Question 1

Which of the images A to E is next in the sequence?

VARRISvENp @7 "’
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Question 2

Which of the images A to E is next in the sequence?
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Question 3

Which of the images A to E is next in the sequence?
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Question 5

Which of the images A to E goes in the missing part of the sequence?
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Question 6

Which of the images A to E goes in the missing part of the sequence?
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Question 7

Which of the images A to E goes in the missing part of the sequence?
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Identifying the ‘odd one out’

Question 8

Which of the images A to E is the odd one out?
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Question 9

Which of the images A to E is the odd one out?
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Question 10

Which of the images A to E is the odd one out?
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Question 11

Which of the images A to E is the odd one out?
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Question 12

Which of the images A to E is the odd one out?
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Question 13

Which of the images A to E is the odd one out?

[]A [ 1B (e b [E
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Question 14

Which of the images A to E is the odd one out?

[]A [ 1B (e b [E
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Identifying Common Feature

Question 15

Which set does Figure 1 belong to?

SETA

= >
i (=N

SET B

(~ |2 O D
AP

==

FIGURE 1:

=

&S

Tick the correct answer:

|:|SetA
|:|Set B

|:| Neither Set A nor Set B
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Question 16

Which set does Figure 1 belong to?

SETA

SET B

FIGURE 1:

*
o

Tick the correct answer:

[ ]setA
|:|Set B

|:| Neither Set A nor Set B
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Question 17

Which set does Figure 1 belong to?

SETA

<% |©

<*>

SET B

Q< % @
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&>

FIGURE 1:

<>

Tick the correct answer:

[ ]setA
|:|Set B

|:| Neither Set A nor Set B
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Question 18

Which set does Figure 1 belong to?
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FIGURE 1:

O %O

Tick the correct answer:

[ ]setA
|:|Set B

|:| Neither Set A nor Set B
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Question 19

Which set does Figure 1 belong to?

SETA

SET B

FIGURE 1:

‘f&'

Tick the correct answer:

[ ]setA
|:|Set B

|:| Neither Set A nor Set B
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Question 20

Which set does Figure 1 belong to?

SETA
SET B
FIGURE 1:

Tick the correct answer:

[ ]setA
|:|Set B

|:| Neither Set A nor Set B
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Question 21

Which set does Figure 1 belong to?

SETA

SET B

FIGURE 1:

Tick the correct answer:

[ ]setA
|:|Set B

|:| Neither Set A nor Set B
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Applying Operations

Question 22

You may need one or more of the following operations to answer this question.

Y A n| =% AA| [TAG| k)= [ A

The 1st and 3rd symbols change size All symbols reflect in the vertical axis
YA A =D p ] [FAR XD kan
All symbols rotate 90° clockwise All symbols change shading

Which of the diagrams A to D goes in the empty box below?

=NZD =T ="

QO K||E © || O K|H O De

[]Aa (1B [lc []D
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Question 23

You may need one or more of the following operations to answer this question.

WA A OV D[AAE] ran] =W [a Ak

The 1st and 3rd symbols change places All symbols move one place to the left
YA A % ATCA|l FrAA --> A A
All symbols move one place to the right The 1st and 2nd symbols change places

Which of the diagrams A to D goes in the empty box below?

N O X O % N\
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Question 24

You may need one or more of the following operations to answer this question.

T V==

I =G =TS

The 1st and 3rd symbols change size

All symbols reflect in the vertical axis

R =C D=3 4

WAA :<Z>:>i%<m

All symbols reflect in the horizontal axis

Middle symbol rotates 90° anticlockwise

Which of the diagrams A to D goes in the empty box below?

(o

DRT

OnT

DLT

T O

TS

[]A

[]B
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Question 25

You may need one or more of the following operations to answer this question.

YA A =od=>FrA A

TCAA -g—b A

The 2nd and 3rd symbols change places

All symbols reflect in the horizontal axis

Y AA =B P >

AR 4 >[An

All symbols rotate 90° clockwise

All triangles change shading

Which of the diagrams A to D goes in the empty box below?

..

()= (2 )=

A A

LA N A

"=

A WA

[]A

[]B
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Question 26

You may need one or more of the following operations to answer this question.

A~ | AA| [ A A =o =DA% A

The 1st and 3rd symbols change size The 1st and 2nd symbols change places
*AA| =B »d| [Foa|=<§ =>Fun
All symbols rotate 90° clockwise All squares change shading

Which of the diagrams A to D goes in the empty box below?

/A ® < |:<§>>l<@>:> ?

P A Acc| mcAll » AL
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Question 27

You may need one or more of the following operations to answer this question.

YA A =D A AT

TCAA -g—b A

The 1st and 3rd symbols change places

All symbols reflect in the horizontal axis

Y AA =B P >

YA A = A= AT

All symbols rotate 90° clockwise

All symbols move one place to the right

Which of the diagrams A to D goes in the empty box below?

M= —(F )

@ v [

1% &

$L %

L% &

v U %

[ 1A

i
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Question 28

You may need one or more of the following operations to answer this question.

YA A

YA A

—F

=B)=

X8 AY

A<

All symbols reflect in the horizontal axis

All symbols reflect in the vertical axis

el

O A

All symbols rotate 90° clockwise

All squares change shading

—(k=>RNAD

— 5 = FEn

Which of the diagrams A to D goes in the empty box below?
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*

>k

|

https://www.carepatron.com/

rowered ty (ffff,  carepatron


https://www.carepatron.com/

	Text1: 
	0: 
	1: 

	Check Box2: 
	0: 
	0: Off
	3: Off
	2: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off


















	1: 
	0: Off
	3: Off
	2: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off


















	2: 
	0: Off
	3: Off
	2: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off


















	3: 
	0: Off
	3: Off
	2: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off


















	4: 
	0: Off
	3: Off
	2: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off













	Check Box3: 
	0: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off






	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off






	2: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: 
	0: Off
	1: Off









